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1. Correct answer:

41
Jade has 31 beads for a project. She gets 10 more beads from a friend. Choose the number of beads
Jade has now.
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2. Correct answer:
3 rods

Esme has 20 blocks. Ken has 10 blocks. Move blocks to the box to show how many they have in all.
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3. Correct answer:
38._32>> 5 455<,42 42 »>=

For each pair of numbers, decide whether the first number is less than, greater than, or equal to the

second number.
First, choose numbers on the lefl. Then, choose the symbol on the right that makes each number
sentence true.
o 7|
38 32 <
5 45 >
42 42 =

4. Correct answer:

13
Emily has a jar of 28 bultons. Kevin has a jar of 15 buttons. Mowe the numbers to the boxes 1o show how
many more butions Emily has than Keavin.
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5. Correct answer:
3

Measure the path between the rabbil and the garden using the carrot.

.-_ A A b\

Choose the number of carrats needad to measure the length of the path.

=2 ?

6. Correct answer:
11-4=7

Megan has 11 envelopes. She uses 4 envelopes (o mail letters to her family. Choose the equation that
shows how many envelopes Megan has now.

11-4=4
11-4=7
11-4 =11
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7. Correct answer:
69, 70, 71

3 more pannies.

Mary counls 68 pennies. Then she counts 3 more. Move numbers 1o the lines to show how Mary counts

68,69 , 70 , 71
17

8. Correct answer:

26 — 3rd set of 10 frames, 16 — 1st set of 10 frames

Match each number with the correct group of ten frames. First choose the number and then choose the
ten frames,
idhal od ?
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16
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9. Correct answer:
first, third, and fourth shape

Choose all the shapes thal are sguares.
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10. Correct answer:
6+3=9

Max has 8 hats on a shelf.
He adds 3 more hats.
Move the hats to the shelf to show how many hats Max has in all.

P 2
G HGHHG — GO
Q

Choose the equalion that shows the tolal number of hals Max has in all.

&

6+3=10 6+3=9 6+3=8
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